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var array_namel[:datatype];  //declaration
array_name = [vall,val2,valn..] //initialization
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var array_name[:data typel = [val1,val2...valn]
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array_name[subscript] = value
03w (g 6T : Jlio
var alphas:string[];
alphas = [|l1 II,II2II,II3II’II4II]
console.log(alphas[0]);

console.log(alphas[1]);
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//Generated by typescript 1.8.10

var alphas;

alphas = [|l1 ll’ |l2|l’ |l3|l’ |l4|l];



console.log(alphas[0]);

console.log(alphas[1]);

var nums:number[] =[1,2,3,3]
console.log(nums[0]);
console.log(nums[11);
console.log(nums[2]);

console.log(nums[31);

/IGenerated by typescript 1.8.10
varnums =[1, 2, 8, 3];
console.log(nums[01);
console.log(nums[11);
console.log(nums[2]);

console.log(nums[31);
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var arr_names:number[] = new Array(4)

for(vari= O;i<arr_names.length;i++;) {
arr_nameslil=i*2

console.log(arr_names[il)
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/IGenerated by typescript 1.8.10

var arr_names = new Array(4);
for (vari=0;i<arr_names.length;i++) {

arr_nameslil =i* 2;

console.log(arr_namesl[il);
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var names:string[]1 = new Array("Mary","Tom","Jack","Jill")



for(vari=0;icnames.length;i++) {

console.log(namesli])
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//Generated by typescript 1.8.10
var names = new Array("Mary", "Tom", "Jack", "Jill");
for (vari=0;i<names.length;i++) {

console.log(namesli]);
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forEach()
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indexOf()
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join()
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reduce()
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reduceRight()
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reverse()
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shift()
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slice()
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some()
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var arr:number[] =[12,13]
var[x,yl = arr
console.log(x)

console.log(y)
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//Generated by typescript 1.8.10
vararr=[12,13];
varx=arr[0],y =arr[1];
console.log(x);

console.log(y);
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varj:any;

var nums:number[] =[1001,1002,1003,10041]

for(jin nums) {

console.log(nums(jl)
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/IGenerated by typescript 1.8.10
var j;

varnums =[1001, 1002, 1003, 10041];

for (jin nums) {

console.log(numsijl);

394 50 031 inled yj Cygu0 o 52955 9
1001
1002

1003
1004

(TypeScript) i Sawl ool 53 b aulyT b jgoT

wlauogi g pg4io YLy

Multi-dimensional arrays .1
oy T ol S g5 030w 308 (50 oo busidi (gauai2 5l oulyT 1 o jSuwl ol

Al (53595 sl oulyT Lo



https://www.tutorialspoint.com/typescript/typescript_multi_dimensional_arrays.htm

Passing arrays to functions
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